
Составление таблицы
+ 5,6,7,8,9.
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Стр. 16



1+5= 5+1=61+5

5+3=5+1+2=83+5=

5+5=5+2+2+1=105+5=

Когда прибавляют 5,6,7,8, или 9, для 
облегчения используют …………… свойство 
сложения, в случаях затруднения используют 
сложение по……



1  2  3  4  5
                1 + 5 = 6
             2 + 5 = 7
             3 + 5 = 8
             4 + 5 = 9  
             5 + 5 = 10        



1  2  3  4  5
             1 + 6 = 7

             2 + 6 = 8

             3 + 6 = 9

             4 + 6 = 10
             



1  2  3  4  5
                      1 + 7 = 8

             2 + 7 = 9

             3 + 7 = 10

             



1  2  3  4  5
             1 + 8 = 9

             2 + 8 = 10

             



1  2  3  4  5
                  

                            1 + 9=10


